Wednesday, February 15

Written Test 1 Review
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What is thelcardin Itylfth power set of ({a, b, c, d}\ {a, e}) \/ {a, f}? Enter an integer value (with no spaces).
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Consider the following logical quantification: K
( ; .4 'K} x
,y.x:NAT&y:NAT==|x+y>=1@(+y<20|

Convert the above predicate to an equivalent one usin

e other logical quantifier. =
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as the right operands of the relational expressions

Note the following constraints on your answer:

e Only put pairs of parentheses when necessary.

o Like the above predicate, there should be no white spaces.

o Like the above predicate, numerical constants (i.e., 10, 20) must appe
(e.g., x +y >=10).

e Relational expressions should be simplified whenever possible, e.g., write ¥ >= 20 rather than not(x < 20).

Be cautious about the spellings: this question will be graded automatically a
mistakes.

no partial marks will be give to spelling
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Answer:

The correct answer is: rﬁg@gy.x:NAT&y:NAT&(x+y<1C@(+y>=20))

WX eY=lo A L+Y< >)

{e)

T2 10) v 1(xef<20)
Z A+Y<io v XY 7 >



fo.b,e,dY g $2, (5,308 = 1@, (4,333

SR - {“’ﬁ”"’"ﬁfm 1€s %

( myMcﬁl& whté @ K



Consider two sets:

e S={ky}
e T={1,2%

Enumerate the following set:

{@_@la:S&b:T&a/:x&b<§}

Requirements. In your answer:

e Pairs must be sorted in an ascending order by the first elements, or by the second elements if the first elements are
identical. For examples: (x, 2) appears before (y, 1), (x, 1) appears before (x, 2), etc.

¢ No white spaces should be included, e.g., write (x,1) rather than (x, 1).

Be cautious about the spellings: this question will be graded automatically and so no partial marks will be given due to
spelling mistakes.
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The correct answer is: {(y,1)




Consider two sets:

So S
e T={1,2 3}

Considerr such thatr: S<->T:

{1, (3 (v, ) (v, 2)}

What is the result of the following expression:
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Requirements. In your answer:
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« Pairs must be sorted in an ascending orfler by the first elements, or by the second elements if the first elements are

identical. For examples: (x, 2) appears
* No white spaces should be included, e

fore (y, 1), (x, 1) appears before (x, 2), etc.
., write (x,1) rather than (x, 1).

Be cautious about the spellings: this quegtion will be graded automatically and so no partial marks will be given due to

spelling mistakes.
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Answer:

The correct answer is: {(y,1)}
—
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